Névralgie Blues

Pat Durand
Moderate | =120
3
Jdd=4
1212 12— —12-12-12-12-12-12-12-12 120
9 10—— 11 12 3-0
A7 >3 —1
A (2)-2
LET RING LET RING LET RING
3 0 0
T 013 —— 01
A 2 2 224 0
B 2-2_4 0——4-4-0-5%0 2 2-2 4
U0 UOdUU Uuar
JUuUL
LET RING LET RING LETRING
0 3
T 0——3 0 2
2 5 5 0—
A 2 2-2-4-2 | 5 5 4 4 22 4
E 224 0——4-4-0—3%-0 0—1—0 0 0
LU ULY UUUdU tuud
|__3_|
LET RING LET RING
0 0 2 - 0
T 1 0 1 2 g_:?_4|._0
A 0 1 3-4
R 2 22 4 22 43 2 -
0——-0-4—4—0 0 0——0-4—4—0 0 ‘
Da Coda LETRING
e Y2 Y
41-712 gto_gﬁo_ﬁg_g 0 30— 00 - 0
0—1—++ 13 2 1 0
LA 1
2
0 3—2_0—

172



LET RING

LET RING
13 0 0 0 0 0 0
| —0 0——0 0
6 . 6 . 6 6 . 6
6 5 6
0
0 0
L L
LETRING
18 0 7-5—=
0 7—7 5 5 3 20—
7 7 6— 6 61654+ 4521+ 20—
6 6 515
0
L_3.J L_3.J L_3.J L_3J L_3J L_3J L_3J L_3J L_3J L_3J
LET RING
2 2.4-5-4-2—
3 0—0—m _
0-2/4 2142.0-2-0—0 2-4
2 2120 1-4
0-1-2 A— 1 2
0-3— i (0)
L3

L_3.J L_3.J L_3.J L_3.J

L_3.J L_3.J L_3.J L_3.J

Da Segno
LET RING —~ LET RING LET RING
24 0—0-3-0—0—0-3-0 0 0 0
2 2 0 2 1 0
124 3 2 00—t
| 1
0) | 2+
© 0 L 75
)
$ LET RING
270— 12— 12— 12— 12— 12— 12— 12— 12 12— 12— 12— 12 7
0 9 10 11 2 7
1 6
0 6
2
0 0

"

2/2




